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Electronics Systems

Lesson #3
Chapter 1
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Homework

• Probs
– 1.15 repeat using a load resistance of 8 Ω and 

then a load resistance of 2 Ω; describe what 
happens and why – prove it for extra credit.

– 1.17 Use input resistance = 100Ω, input voltage 
10m V rms and output voltage 10 V rms

– 1.18, 
– 1.19 use load resistor of 100k Ω and source 

resistor of 500k Ω
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Homework Answers #1

• Probs 1.15 
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Homework Answers #1

• Probs 1.15 
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Homework Answers #1

• Probs 1.15 
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Homework Answers #1

• Probs 1.15 

vs=

2mV
vovi
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When Ro = 4 Ω, we have maximum power transferred.
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Homework Answers #1

• Probs 1.15 
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Homework Answers #2

• Probs 1.17 
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Homework Answers #3

• Probs 1.18
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Homework Answers #4
• Probs 1.19 
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